

1. Simple Interest & Compounding: The difference between the Future Values of an investment calculated by using compounding and simple interest methods is TL 419,31. What is the original principal (beginning investment amount) if the yearly interest rate is 10% for 15 years period? 


FVc – FV s = P*(1+10%)^15 – P*(1+10%*15= 419,31 >>> 4,18P-2,5P=419,31 >> P = 250 TL
2. Rate on a Loan: If you take out  an $ 8.000 car loan for 48 monthly payments at an APR of 10%; each;

a. What is your monthly payment? (5 p)

=PMT(0,1/12;48;-8000)=202,90
b. What is the effective annual interest rate on the loan? (5 p)
=EFFECT(10%;12)=10,47%

3. Number of Periods: How long will it take for $400 to grow to $ 1.000 at the interest rate specified; if interest rate is 8%  (Convert the decimals to months)
=NPER(0,08;;-400;1000)=11,91 Years >>> 11 years 11 months
4.  Present Values: A factory costs TL 400,000. If the discount rate is 12%, what is the Present Value of the following cash flows? (10p)

	Years
	Cash Flow

	1
	120,000

	2
	180,000

	3
	300,000





=NPV(0,12;I2:I4)=464,17


5. Interest Amount: Suppose the interest rate is 10% per year, compounded annually. What is the minimum amount of money that have to be invested for a two year period in order to earn 300, - TL in interest? (10 p)
P + 300 = P*(1+10%)^2 >> 300=0,21P >> P=300/0,21 >> 1428,57
6. Simple Interest Rate: If 80, -TL in interest is earned in two months on an investment of TL 4,000;     what is the annual rate of simple interest? (10 p)

40*12/4000=12%
7. Perpetuities : A property will provide $10,000 a year forever. If its value is $125,000, what must be the discount rate? (10 p)
=10000/125000= 8%
8. Real Rates:  If investors receive a 6% interest rate on their bank deposits, what real interest rate will they earn if the inflation rate over the year is;

a) 3% (5p) >>>  6%-3%/1+3%= 2,91%
b) 6% (5p) >>> 6%-6%/1+6%= 0%
9. Calculating Interest Rate: You borrow $ 1,000 from a bank and agree to repay the loan over the next year in 12 equal monthly payments of $ 90. However, the bank also charges you a loan initiation fee of $20, which is taken out of the initial proceeds of the loan. What is the effective annual interest rate on the loan taking account of the impact of the initiation fee?
=RATE(12;-90;1000-20)=1,53% >>> 1,53%*12=18,33% >>> =EFFECT(18,33%;12)=19,95%
10. Consumer Loan: You plan to take a consumer loan that calls for 48 monthly payments. If the yearly effective interest rate compounded monthly is  26,83 %; what is the yearly nominal interest rate (APR) ?

=NOMINAL(0,2683;12)=24%
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